Simplifying order of operations! Name

Wednesday lanuary 13, 2016

Use a new sheet of poper to copy down each expression. Please put the answers ONLY on this poper.

Problem; ' Order of Operations:
gx{(3+4)+2 +,%, %
i. 33+6+ 12
2. 12+6+10x2
3. 5+5+4x1Z
4. [6—-({3x2)]+4
5. (Ax8)+2+8
6. (9+11)+({5+4+1)
7. 2+3x4+5x6
8. 8x9+{20—-6)+2
9. (77+3) +10x 4

10, {18+7)x{11-7)

11, 4x[($6-54])]+(57-93)
12.  5x[{15-5)+(9-3)]

13. 36+ [(18-10)-(8-6)]
14.  12+[(155)+(9~-3)]
15.  50—(5x5)+13

16. 18 -3-5+1




** Place a set of {(parentheses) {} in each number sentence to make the
expression equal the given valuel

17. 1Z2+6+2+4=13

18. 42-24 =-6=13

15. 9+16—2x4=17

20. 60—-3+2x5=35

21. 18+¢ =~ 3=21
23

22. Sx2+4+3=43




